
pT[ GeV/c] dσ/dpT [ mb /( GeV/c )] (Forward)
[1, 2] 40.198± 0.174± 0.717± 2.291
[2, 3] 25.763± 0.057± 0.456± 1.326
[3, 4] 12.959± 0.019± 0.219± 0.638
[4, 5] 6.311± 0.012± 0.135± 0.300
[5, 6] 3.188± 0.007± 0.064± 0.151
[6, 7] 1.693± 0.012± 0.042± 0.081
[7, 8] 0.943± 0.005± 0.022± 0.045
[8, 9] 0.559± 0.005± 0.014± 0.028
[9, 10] 0.306± 0.001± 0.008± 0.015
[10, 11] 0.194± 0.002± 0.004± 0.010
[11, 12] 0.130± 0.001± 0.004± 0.007
[12, 13] 0.071± 0.001± 0.002± 0.004
[13, 14] 0.048± 0.001± 0.002± 0.003

pT[ GeV/c] dσ/dpT [ mb /( GeV/c )] (Backward)
[1, 2] 40.492± 0.161± 0.785± 4.317
[2, 3] 23.726± 0.031± 0.402± 2.241
[3, 4] 10.684± 0.014± 0.170± 0.981
[4, 5] 4.720± 0.008± 0.094± 0.414
[5, 6] 2.170± 0.005± 0.041± 0.188
[6, 7] 1.050± 0.004± 0.020± 0.093
[7, 8] 0.557± 0.006± 0.013± 0.051
[8, 9] 0.289± 0.002± 0.007± 0.026
[9, 10] 0.166± 0.001± 0.004± 0.015
[10, 11] 0.101± 0.001± 0.003± 0.010
[11, 12] 0.069± 0.001± 0.003± 0.007
[12, 13] 0.038± 0.000± 0.002± 0.003
[13, 14] 0.025± 0.000± 0.001± 0.002


